
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

3517.7 × 0.01 = ________ 4855.8 × 0.01 = ________

9570.3 × 0.01 = ________ 8619.6 × 0.0001 = ________

1300.7 × 0.001 = ________ 7594.1 × 0.001 = ________

8947 × 0.1 = ________ 7133.9 × 0.01 = ________

4349.3 × 0.01 = ________ 7316.4 × 0.001 = ________

9826.7 × 0.0001 = ________ 2884.2 × 0.001 = ________

3527.6 × 0.1 = ________ 6728.7 × 0.001 = ________

4598.4 × 0.0001 = ________ 3325.2 × 0.0001 = ________

2781.7 × 0.01 = ________ 1305.7 × 0.1 = ________

8784.5 × 0.1 = ________ 7634.3 × 0.1 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

3517.7 × 0.01 = 35.177 4855.8 × 0.01 = 48.558

9570.3 × 0.01 = 95.703 8619.6 × 0.0001 = 0.86196

1300.7 × 0.001 = 1.3007 7594.1 × 0.001 = 7.5941

8947 × 0.1 = 894.7 7133.9 × 0.01 = 71.339

4349.3 × 0.01 = 43.493 7316.4 × 0.001 = 7.3164

9826.7 × 0.0001 = 0.98267 2884.2 × 0.001 = 2.8842

3527.6 × 0.1 = 352.76 6728.7 × 0.001 = 6.7287

4598.4 × 0.0001 = 0.45984 3325.2 × 0.0001 = 0.33252

2781.7 × 0.01 = 27.817 1305.7 × 0.1 = 130.57

8784.5 × 0.1 = 878.45 7634.3 × 0.1 = 763.43

www.snowmath.com

https://www.snowmath.com

